
HIV and cancer: 
answers to self-assessment quiz

1.  Answer could include EBV, HBV, HCV, HPV
2.  The correct answer is c, i.e. approximately 

two-thirds
3.  The statement is true
4.  The correct answer is c
5.  The statement is true
6.  The statement is true
7.  The correct answer is c i.e. people living with 

HIV present with lung cancer on average 
25–30 years earlier than their HIV-negative  
counterparts.

8.  Answer could include helicobacter pylori infection, 
hepatitis C and Epstein–Barr virus infection, 
exposure to some chemicals and autoimmune 
diseases, such as coeliac disease, rheumatoid 
arthritis, and systemic lupus erythematosus.

9.  The answer is false. HL is not considered to be 
AIDS defining.

10.  The area bordering the Mediterranean has the 
highest incidence of classic KS

11.  The correct answer is b
12.  The correct answer is b


